temp2<«list[;1]

temp3<«list[;2]

tempd<templ/temp?2

tempS<templ/temp3

templ<ptempd

corr<(templ , 2 )p (tempd , tempb)
mean_a<(+/tempd)+(ptempd)

all<« 'mean a'

all«mean_a

mean_b<(+/temp5)+(ptemp5)

af<'mean b'

all«mean_b
std_a<V(+/((temp4-mean_a)x(temp4-mean_a))+(ptemp4))
al<'std a'

all«std_a

std_b<V(+/((temp5-mean_b)x (temp5-mean_b) )+ (ptemp5))
al<'std b'

all«std_b

>((std_a = 0.0) v (std_b = 0.0))pL1
corr<(+/(((tempd-mean_a)x(tempb-mean_b)+std_a)+std_b) )+ (ptempd)
corr<corr , (ptempd)

af<«'corr'!

all«corr

>L2

L1: corr<« 2.0 , (ptempd)

L2:



